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1. Which one is mainly used in checking of objective type answer paper in examination?
A) MICR B) OCR C) OMR D) MCR

2. Who is the inventor of WWW — World Wide Web?
| A) Bill Gates B) Tim Bemners-Lee C) Edward Kanser D) Tim Kook

3. The United Nations was established on:
A) 25® June, 1945 B) 24™ October, 1945
C) 26" January, 1950 D) 1* January, 1946
4. 8™ March of every year is celebrated as:

A) Intemational Year of Women B) Human Rights Day
C) International Peace Day D) World Environment Day

5.  Who is the father of Immunology?

A) Edward Jenner B) Roberth Koch
C) Newton D) Louis Pasteur

6. The Planning Commission has been replaced by:

A) Niti Ayog B) National Human Rights Commission
C) Finance Commission D) National Planning Board
7. Union Budget is presented:
A) Before Lok Sabha B) Before Rajya Sabha
() Before President of India D) In the Joint Meeting of both houses of Parliament

8  Who is the author of the Book — ‘We the Nation'?

A) Ranald Dworkin B) A.V. Dicey
C) Nani A. Palkivala D) M.C. Chagla

9. The book ‘Law’s Empire' has been written by:

A) Justice P.N. Bhagwati B) Ronald Dworkin
C) Nani A. Palkivala D) Thomas L. Friedman

10. In a Republican State the Head of the state is:-
A) Nominated B) Appointed C) Selected D) Elected

11. The Nobel Prize for Peace for the year 2015 was awarded to:
A) The National Dialogue Quartet B) Kailash Satyarthi
C) Malala Yousufzadi D) John Kerry

12. The term ‘Monsoon’ is originated from:
A) Spanish Language B) Hindi Language
C) English Language D) Arabic Language
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25;
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Which of the following country has agreed to provide technical and financial assistance
for the Bullet Train Project of India?

A) China B) Japan

I'he term Aparthiad is related to
A) Gender discrimination

C) Religion based discrimination

C) USA D) France

B) Age based discrimination
D) Racial discrimination

The World Trade Organization was established on:

A) 1* April, 1995 B) 10" December, 1990

C) 1" January, 1995 D) 24* October, 2000

CENVAT is related to:

A) Sales Tax B) Excise Duty C) Service Tax D) Income Tax
Which day is celebrated as Computer Literacy Day:

A) 1¥ December B) 10" December € ™ June D) 2™ December
The term NIKKEI represents:

A) Foreign Exchange Market of Japan B)Share Price Index of France

C) Share Price Index of Japan

D) Name of Central Bank of Japan

The currency note of Re 1/- (Rupee One) is printed by:

A) Central Government
() State Bank of India

B) Reserve Bank of India
D) Finance Minister of India

Who is termed as father of Green Revolution in India?

A) Joseph Kurien
C)M.S. Swaminathan

B) H.V. Kamath
D) Homi Bhabha

Who was founder of US Company ‘APPLE'?
A) Tim Kook B) Steve Jobs C) Bill Gates D) Sunder Pichhai

The Head Quarter of World Bank is situated at:
A) Manila B) Washington D.C. C) Geneva D) New York

Centralized Planning was first adopted in the economy of:

A) India B) USSR

rusia C) China D) USA

Who is the present Chairman of SEBI?
A) G.N, Bajpai B) M. Damodaran ~ C) UK. Sinha D) Raghuram Rajan

CRISIL is an agency which:

-.A_l Evaluate the credit documents of 2 company B) Provide financial assistance

C) Make planning
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26. MGNREGA is the programme of Government which provide:

A) Employment to urban youth B) Employment to women

C) Prevent Child Abuse -D) Employment in Rural Areas
27. The best specimen of Mauryan art are represented by their:

A) Pillars B) Stupas C) Caves D) Chailyas

28. The declaration of American Independence has been largely written by:
A) George Washington B) Thomas Paine
C) Thomas Jefferson D) Martin Luther King ~ |
29. The title of *Vikramaditya' was assumed by:
A) Harsha B) Kanishka C) Samudragupta D) Chandragupta - 1l
30. ‘Agamas’ are the sacred religious text of which religion™
A) Hindus B) Jains C) Parsis D) Jews

31. Lord Buddha relinquished his body at place;
A) Lumbini B) Sarnath C) Nalanda D) Kushinagar

32 The battle of Kalinga was fought by Lord:
A) Ashoka B) Peshwas C) Akbar D) Muslims

33. The ‘Din-i-llahi’ was founded by:
A) Akbar the Great B) Jehangir C) Aurangzeb D) Tipu-Sultan

34 The duration of the reign of Peshwa Baji rao was from:
A) 1668 - 88 B) 1728 - 48 C) 1720 - 40 D) 1660 - 80

35. Annie Besant was assaciated with:

A) Arya Samaj B) ISKCON
C) Theosophical Society D) Quit India Movement

36. Swami Vivekananda was disciple of:

A) Ramkrishna Paramhans B) G. Krishnamurthy

C) Maa Savitri D) Shri Raman Maharshi
37. East India Company was founded in India during the regin of:

A) Jehangir B) Aurangzeb C) Akbar D) Shahjahan
38. Who coined the slogan ‘Swarath is our Birth Right'?

A) Lala Lajpat Rai B) Mahatma Gandhi

C) Bal Gangadhar Tilak D) Bhagan Singh

3)
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43,
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48,

49,

50

I —

A) USA B) China C) France D) India

Famous Gandhi-Irwin Pact was signed on:

A) 5™ March, 1931 B) 10" April, 1931

C) 1" March, 1932 D) 14" August, 1945

Who raised the slogan ‘Karo ya Maro® (Do or Die)?

A) Muslim League B) Indian National Congress

C) Sardar Bhagat Singh D) Netaji Subhash Chandra Bose

Who announced the ‘Partition Plan’ for India and Pakistan?

A) Lord Wavel B) Lord Curzon

(') Lord Mountbatten D) Mohmd. Ali Jinna

When the first meeting of the Constituent Assembly of India was convened:
A) 10" June, 1946 B) 15" August, 1947

C) 10" May, 1947 D) 9™ December, 1946

Who was the President of the Constituent Assembly of India?

A) Babu Rajendra Prasad B) B.R. Ambedkar

C) T.S. Sapru D) Jawahar Lal Nehru

Which of the following planet is closest planet to Earth:
A) Mars B) Mercury C) Venus D) Jupiter

Which of the following planet is largest?
A) Satum B) Jupiter C) Pluto D) Neptune

Which of the following country has been successful in its first attempt to enter into oer
of Mars?

The habrtat of Eskimos is:
A) Norway B) Canada O) Russia and Canada D) Spain

The largest producer of Zinc is:

A) Thailand B) India  C) Russia D) USA
Which of the following mineral is used in manufacturer of fertilizers and also explosives
A) Gypsum B) Silver C) Nitre D) Tungston
Which of the following is smallest state in the world?
A) Peru B) Monaco () Vetican City D) Micronesia
4)

[www.chteshamlaw.com| 8881087182,8853498223



USER

http://www.ehteshamlaw.com/

5l

32,

33.

55.

57.

58.

59.

60.

61.

Which of the following is the smallest Indian Union Territory (UT)?

A) Lakshadweep B) Chandigarh

C) Andaman and Nicobar Island D) Pondicherry

The Great Indian Bustord (Godavan) is found in the state of;

A) Madhya Pradesh B) Jharkhand C) Rajasthan D) Telangana
Which bold group is known as universal donor?

A) O+ B) A+ C) B+ D) AB

Which part of the Brain is responsible for maintenance of equilibrium of body and co-
ordination of muscies:

A) Medula Oblongata B) Cerebellum

C) Cerebrum ; D) Hypothalamus
‘Leukemia’ is a disease relating to:

A) Inflamation of joints B) Formation of blood clots
C) Blood cancer D) Oral Cancer

The main constituent of Pearls are:

A) Caleium Oxide and aragenite B) Calcium Carbonate and Magnesium Carbonate
C) Amonium Chloride and Conchiolin D) Amonium Sulphate and Sodium Carbonate

The Bamboo is a:
A) Tree B) Grass C) Flower D) Leaf

Who discovered the ‘God Particle™?

A) Peter Higgs and Francois Englert B) Peter Higgs
C) Jagdish Chandra Bose D) Elbert Einstein

The Human Genome Project is related to:

A) De codify the DNA

B) Mapping of human brain

C) Identifying and mapping of all the genes of human genome
D) Functioning of Heart

Mother's milk is preferred to cow's milk especially for children, because, it contains:

A) More fats and less lipids B) Less fats and less lipids
C) More fats and more lipids D) Less fats and more lipids

'.[ha constitution of India was adopted on...........

A) 15" August, 1950
B) 26" January, 1950
C) Partly on 26™ November, 1949 and partly on 26" January 1950
D) 1* January, 1950
(5)
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The Preamble of the Constitution of India states India as:

A) Sovereign and Secular Republic

B) Sovereign, Socialist, Secular Democratic Republic
C) Sovereign, Democratic Republic

D) Sovereign, Secular and Democratic Republic

Which of the following is not a Fundamental Right?

A) Right to Freedom of Religion B) Right to Life and Personal Liberty
C) Right to Education D) Right of Property

Which of the following statement is not correct?

A) Constitution of India is the Longest Constitution

B) Constitution of India provides Dual Citizenship

C) Constitution of India has special provision for state of J & K
D) The Rule of Law is ensured in the Constitution of [ndia

A person can directly file a writ petition before the Supreme Court of India for the
enforcement of his fundamental right under Article __ of the Constitution of India:

A) 32 B) 226 C)19 D) 368

The writ of Habeas Corpus is issued for:

A) Quashing wrongful appointment

B) Compel Public authority to perform duty

C) Quashing illegal quasi-judicial order

D) Against wrongful deprivation of personal body and produce person before Court

Judge of the Supreme Court are appointed:

A) President of India directly

B) President of India on the recommendation of the National Judicial Appointment Comm
C) President of India on the recommendation of Collegium of the Supreme Court

D) President of India on the recommendation of the Chief Justice of India

The doctrine of basic structure of the Constitution was evoived by the Supreme Court in:
A) Kesavandands Bharti Case B) Golaknath case
C) R.C. Cooper case D) Maneka Gandhi case

Provisions for reservation of women is provided in following bodies:

A) Local Sclf Bodies (Panchayats and Municipal Bodies)
B) Lok Sabha

C) Rajya Sabha

D) State Legislative Assemblies

(6)
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. Political parties are recognized by:

A) Parliament B) Election Commission of India
() President of India D) Supreme Court of India
. A contract with minor is;
A) Valid B) Invalid C) Voidable D) Void ab initio
*Accomplice’ means:
A) Criminal mind : B) Eye witness
C) Partner in crime D) On looker

. Generally the burden of proof to prove guilt lies on:

A) Accused B) Prosecution C) Court D) Complainant
. ‘Amicus curiae’ means:

A) Complainant B) Defendant

C) Investigation officer D) Friend of the Court

. Patent is an intellectual property right given by:

A) New and usual invention B) Original literary work
C) Distinguished trade mark D) New plant variety
. “Alimony’ means:
A) Compensation given for wrongful act
B) Maintenance given by husband to wife on divorce
C) Levy of fine by court

D) Payment made at the time of retirement

. The limit of *Territorial water’ is ...........

A) 24 Nautical Miles B) 200 Nautical Miles

C) 12 Nautical Miles D) 10 Nautical Miles
. An advertisement inviting tender is:

A) An invitation for proposal B) Offer

C) An Invitation for negotiation D) Acceptance of Offer
. Environmental related cases are decided by:

A) Minister of Environment B) Supreme Court

C) National Green Tribunal D) Pollution Control Board
. An ancient book on Law is known as:

A) Vedas B) Smriti C) Upnishads D) Chenkya Niti

e 4
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Sclect the correct synonym of the work Opulent:

A) Witty B) Novice C) Wealthy D) Naughty
Select the correct synonym of the word Perjure:

A) Lie B) Hide C) Attract D) Boast
Select the correct antonym of word Revoke:
A) Revive B) Evoke C) Reject D) Accept
*Hobson's Choice’ means:
A) Excellent choice B) No choice

C) Accept or leave the offer

D) Feeling insecured

He lefi his friend in ‘Lurch' means:

A) Left temporarily B) Lef to his fate

C) Left when he was needing his help D) Left forever

The leaders should not shed *Crocodile tears’ it means:

A) False tears B) Tears of happiness

C) Silent tears D) Profuse tears

Give one for “a place for ammunition and weapons’:

A) Warehouse B) Arscnal C) Godown D) Ammoury
Give one word for a person who is incapable of being corrected:
A) Irreparable B) lllegible C) Inaccessible D) Incomrigible
Choose the appropriate word for ‘having a quarrelsome character’:

A) Opponent B) Salubrious C) Belligerent D) Haughty
Fill up the blank in the sentence with best choice:

Itis............ thinking on the part of India that US will fight battle to eliminate
from India.

A) Desirable B) Wishful C) Insensible D) Wrong
Fill in two blanks in the sentence:

‘Ideas ............ to us and gradually ........... in to behaviour.

A) Happen and shape B) Come and merge
C) Occur and coalesce D) From and reflect

What is the next letter inthe series :AEIM

A)Q BT )Y D)Z
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93, Fill the missing figures in the series: 7 13 19 25
A)28 B) 31 C) 36 D)27

. Inacode language, if the word ‘Energy” is coded as 786374 and ‘Reap’ is coded as 1073,
that what is code for word ‘Green'?

A) 78664 B) 73364 C) 68874 D) Cannot be determined
. Find the odd one among the following:
A) Jupiter B) Saturn C) Moon D) Mercury

Find out the odd one among the following:
A) India B) England C) USA ' D) Pakistan

. Pointing to a man, a lady said *His brother's father is my grandfather only son'. How is
the lady related to the man?

A) Mother B) Daughter C) Aunt D) Sister
. If A is the mother B and C, and D is the husband of C, that what is A to D7

A) Mother-in-law B) Daughter

C) Daughter-in-law D) Cousin

). In the following series of digits how many even numbers are immediately preceded and
immediately followed by odd numbers: 76 524317935243684
A) One B) Two C) Four D) Three

100. IF B’s mother was A’s mother’s daughter, how was A related to B?
A) Aunt B) Uncle C) Sister D) Nani

X-X-X

(9)
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